
 
CS10: The Beauty and Joy of Computing 

 
Artificial Intelligence 
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    Person: PICK UP A BIG RED BLOCK. "
    Computer: OK. (does it) "
    Person: GRASP THE PYRAMID. "
    Computer: I DON'T UNDERSTAND WHICH 
PYRAMID YOU MEAN. "
    Person: FIND A BLOCK WHICH IS TALLER 
THAN THE ONE YOU ARE HOLDING AND PUT IT 
INTO THE BOX. "
    Computer: BY "IT", I ASSUME YOU MEAN THE 
BLOCK WHICH IS TALLER THAN THE ONE I AM 
HOLDING. "
    Computer: OK. (does it) "

http://hci.stanford.edu/winograd/shrdlu/ 
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(Image from: http://vision.stanford.edu/resources_links.html) 
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en.wikipedia.org/wiki/Artificial_intelligence 
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en.wikipedia.org/wiki/Dynamic_game_difficulty_balancing 
en.wikipedia.org/wiki/Game_artificial_intelligence 

queue.acm.org/detail.cfm?id=971593 
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en.wikipedia.org/wiki/Machine_learning 
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(Some images from Berkeley vision group) 
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en.wikipedia.org/wiki/Natural_language_processing 
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TOPIO, the ping-pong playing robot 

en.wikipedia.org/wiki/Robotics 

UC Berkeley’s 
towel-folder 

Autonomous 
helicopter 

Surgical robots 

Assistive robots 
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en.wikipedia.org/wiki/Turing_test 
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Thanks! Feel free to email me with 
questions at rafferty@cs.berkeley.edu 


